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Cooking Addition

Solve the following word problems.

If you have 2.75 gallons of milk and you buy
another 1.25 gallons, how much milk do you have in
total?

You have 3.50 pounds of chicken. You buy another
2.25 pounds. How much chicken do you have now?

You used 1.75 cups of flour for a cake and 0.50
cups for cookies. How much flour did you use in
total?

You have 1.25 pints of cream and you add 0.75
pints. How much cream do you have now?

You have 2.50 ounces of cheese and you add 1.50
ounces. How much cheese do you have now?

If you add 1.25 cups of sugar to a recipe that
already has 1.75 cups of sugar, how much sugar
will be in the recipe?

You have 2.75 pints of ice cream and you buy
another 1.25 pints. How much ice cream do you
have in total?

You have 3.50 pounds of beef. You buy another
2.25 pounds. How much beef do you have now?

You used 1.75 cups of oil for a recipe and 0.50 cups
for another recipe. How much oil did you use in
total?
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